

August 27, 2024

Ms. Dilcia Jimenez-Vazquez, P.E. City Engineer City of Deer Park 710 E. San Augustine Deer Park, TX 77536

Re: Deer Park Terrace Subdivision Reconstruction Project

Construction Contract Award Recommendation

Dear Ms. Jimenez-Vazquez:

Bids for the subject project were received on Thursday, August 22, 2024. Seven competitive bids were submitted, with the low bid being submitted by Environmental Allies, LLC in the amount of \$6,249,054.00 for the base bid and \$99,635.00 for the additive alternate of installing street light conduit and pullboxes. All bidders attended the mandatory pre-bid meeting, and all appear to have submitted proper paperwork.

SPI has not worked with Environmental Allies, but some City personnel know them from having provided services related to storm water pollution prevention. Along with their bid, they provided a list of current and recently-completed projects that show they have experience in the general scope and size of work represented by this project. We spoke with one reference, who confirmed they are completing similar work under him and are capable of completing a project of this scope and size. Based on the information we have been able to gather, we recommend award of the construction contract to Environmental Allies, LLC in the amount of \$6,348,689.00 (base bid plus additive alternate).

We have enclosed a tabulation of all bids for your review and records. If you have any questions, please feel free to contact me.

Sincerely,

Mark C. Dessens, P.E.

Muhasims

Vice President

MCD/md Enclosure

Bid Ta	b - Deer Park Terrace Street Reconstruction Project										
Item	Description	Unit	Quantity	Environmental Al	llies Total	D&W Contractors, Inc.	Total	Precise Services, Inc.	Total	Specialty Construction TX, LLC	Total
D	V.A.									TA, EEC	
Base E	SIG										
A. Site	Preparation and Earthwork Clearing and Grubbing	STA	68	\$1,700.00	\$115,600.00	\$5,000.00	\$340,000.00	\$4,000.00	\$272,000.00	\$100.00	\$6,800.00
	Furnish Materials and Labor to Remove Old Concrete,	JIA	08	\$1,700.00	\$113,000.00	\$3,000.00	\$340,000.00	34,000.00	3272,000.00	\$100.00	\$0,800.00
2	Existing Concrete Pavement with Curb as shown on plans and according to specifications, Complete and in place	SY	19877	\$6.00	\$119,262.00	\$12.00	\$238,524.00	\$10.25	\$203,739.25	\$10.00	\$198,770.00
3	Furnish Materials and Labor to Remove Old Concrete, Driveways as shown on plans and according to specifications, Complete and in place	SY	5228	\$12.00	\$62,736.00	\$15.00	\$78,420.00	\$10.25	\$53,587.00	\$11.00	\$57,508.00
4	Furnish Materials and Labor to Remove Old Concrete, Sidewalks as shown on plansand according to specifications, Complete and in place	SY	5035	\$7.00	\$35,245.00	\$15.00	\$75,525.00	\$10.25	\$51,608.75	\$12.00	\$60,420.00
5	Furnish Materials and Labor to Roadway Excavation as shown on plans and according to specifications, Complete and in place	СУ	5745	\$22.00	\$126,390.00	\$20.00	\$114,900.00	\$21.00	\$120,645.00	\$20.00	\$114,900.00
6	Furnish Materials and Labor to Remove and Dispose of Existing Concrete or Metal Pipe (all sizes) as shown on plans and according to specifications, Complete and in place	LF	820	\$18.00	\$14,760.00	\$25.00	\$20,500.00	\$25.00	\$20,500.00	\$30.00	\$24,600.00
7	Furnish Materials and Labor to Adjust Manholes as shown on plans and according to specifications	EA	5	\$1,000.00	\$5,000.00	\$600.00	\$3,000.00	\$335.00	\$1,675.00	\$500.00	\$2,500.00
8	Furnish Materials and Labor to Remove Old Structures (Manholes and Inlets - All Depths), as shown on plans and according to specifications, complete and in place	EA	6	\$800.00	\$4,800.00	\$800.00	\$4,800.00	\$700.00	\$4,200.00	\$750.00	\$4,500.00
9	Furnish Materials and Labor to Remove and Relocate or Dispose of Traffic Signs, Mail Boxes and Roadway Signs, as shown on plans and according to specifications, complete and in place	EA	11	\$300.00	\$3,300.00	\$200.00	\$2,200.00	\$230.00	\$2,530.00	\$100.00	\$1,100.00
10	Furnish Materials and Labor for Clearance Prune Tree, as shown on plans and according to specifications, complete and in place	EA	52	\$750.00	\$39,000.00	\$600.00	\$31,200.00	\$280.00	\$14,560.00	\$500.00	\$26,000.00
11	Furnish Materials and Labor to Install Tree Protection Fence (up to 5,000 L.F.), as shown on plans and according to specifications, complete and in place	LF	3940	\$4.00	\$15,760.00	\$6.00	\$23,640.00	\$6.15	\$24,231.00	\$1.00	\$3,940.00
12	Furnish Materials and Labor to Install Root Pruning Trench, as shown on plans and according to specifications, complete and in place	LF	2270	\$9.00	\$20,430.00	\$12.00	\$27,240.00	\$9.45	\$21,451.50	\$10.00	\$22,700.00
13	Urban Forestry Monitoring	HR	13	\$210.00	\$2,730.00	\$200.00	\$2,600.00	\$205.00	\$2,665.00	\$500.00	\$6,500.00
14	Furnish Materials and Labor to Relocate Existing Water Meter, as shown on plans and according to specifications, complete and in place	EA	23	\$600.00	\$13,800.00	\$600.00	\$13,800.00	\$220.00	\$5,060.00	\$3,500.00	\$80,500.00
15	Furnish Materials and Labor to Adjust Existing Water Valve, as shown on plans and according to specifications, complete and in place	EA	4	\$500.00	\$2,000.00	\$500.00	\$2,000.00	\$320.00	\$1,280.00	\$1,400.00	\$5,600.00
	Sub Totals				\$580,813.00		\$978,349.00		\$799,732.50	I	\$616,338.00
	B. Subgrade & Paving										
16	Furnish Materials and Labor to Construct Speed Bump (Including Asphalt, Tack Coat and Pavement Markings), as shown on plans and according to specifications, complete and in place (REMOVED PER ADDENDUM #1)	EA	0								
17	Furnish Material and Labor to Construct Reinforced Concrete Pavement, 6" depth, as shown on plans and according to specifications, complete and in place	SY	19877	\$71.00	\$1,411,267.00	\$62.00	\$1,232,374.00	\$54.00	\$1,073,358.00	\$85.00	\$1,689,545.00

Item	Description	Unit	Quantity	Environmental Allies	Total	D&W Contractors, Inc.	Total	Precise Services, Inc.	Total	Specialty Construction TX, LLC	Total
18	Furnish Material and Labor to Construct High Early Strength Reinforced Concrete Pavement, 6" depth for Driveways, as shown on plans and according to specifications, complete and in place	SY	5228	\$96.00	\$501,888.00	\$75.00	\$392,100.00	\$145.00	\$758,060.00	\$95.00	\$496,660.00
19	Furnish Material and Labor to Construct Cement Stablized Sand, 6" depth, as shown on plans and according to specifications, complete and in place	TON	7006	\$45.00	\$315,270.00	\$40.00	\$280,240.00	\$87.50	\$613,025.00	\$55.00	\$385,330.00
20	Furnish Material and Labor to Construct 6" Concrete Curb, as shown on plans and according to specifications, complete and in place	LF	13004	\$5.50	\$71,522.00	\$6.00	\$78,024.00	\$4.30	\$55,917.20	\$6.00	\$78,024.00
21	Furnish Materials and Labor to Construct 4" Concrete Sidewalk, as shown on plans and according to specifications, complete and in place	SY	5134	\$60.00	\$308,040.00	\$65.00	\$333,710.00	\$79.50	\$408,153.00	\$75.00	\$385,050.00
22	Furnish Materials and Labor for Re-Installation of Existing Pavers with 4" Cement Stabilized Sand and 1.5" of Bank Sand, as shown on plans and according to specifications, complete and in place	SY	27	\$125.00	\$3,375.00	\$100.00	\$2,700.00	\$120.00	\$3,240.00	\$100.00	\$2,700.00
23	Furnish Materials and Labor to Construct ADA Curb Ramp, as shown on plans and according to specifications, complete and in place	EA	28	\$1,500.00	\$42,000.00	\$1,000.00	\$28,000.00	\$1,800.00	\$50,400.00	\$1,500.00	\$42,000.00
	Sub Totals				\$2,653,362.00		\$2,347,148.00		\$2,962,153.20		\$3,079,309.00
	C. Drainage										
24	Furnish Materials and Labor for Trench Safety System (5' to 10'), as shown on plans and according to specifications, complete and in place	LF	6464	\$1.00	\$6,464.00	\$1.00	\$6,464.00	\$0.10	\$646.40	\$1.00	\$6,464.00
25	Furnish Materials and Labor to Construct Arch Pipe, 18" X 28.5" (24" equivalent), C506, Class IV, as shown on plans and according to specifications, complete and in place	LF	371	\$250.00	\$92,750.00	\$280.00	\$103,880.00	\$380.00	\$140,980.00	\$95.00	\$35,245.00
26	Furnish Material and Labor to Construct 24" Storm Sewer, as shown on plans and according to specifications, complete and in place	LF	2592	\$135.00	\$349,920.00	\$115.00	\$298,080.00	\$105.00	\$272,160.00	\$90.00	\$233,280.00
27	Furnish Material and Labor to Construct Arch Pipe, 22.5" X 36.25 (30" equivalent), C506, Class IV, as shown on plans and according to specifications, complete and in place	LF	843	\$325.00	\$273,975.00	\$340.00	\$286,620.00	\$490.00	\$413,070.00	\$115.00	\$96,945.00
28	Furnish Materials and Labor to Construct 30" Storm Sewer, as shown on plans and according to specifications, complete and in place	LF	1386	\$175.00	\$242,550.00	\$150.00	\$207,900.00	\$145.00	\$200,970.00	\$115.00	\$159,390.00
29	Furnish Materials and Labor to Construct Arch Pipe, 26.625" X 43.75" (36" equivalent), C506, Class IV, as shown on plans and according to specifications, complete and in place	LF	275	\$430.00	\$118,250.00	\$435.00	\$119,625.00	\$645.00	\$177,375.00	\$190.00	\$52,250.00
30	Furnish Materials and Labor to Construct 36" Storm Sewer, as shown on plans and according to specifications, complete and in place	LF	319	\$245.00	\$78,155.00	\$170.00	\$54,230.00	\$165.00	\$52,635.00	\$190.00	\$60,610.00
31	Furnish Materials and Labor to Construct 4'X4' Shallow Junction Manholes, depth of less than 5-feet, as shown on plans and according to specifications, complete and in place	EA	7	\$3,000.00	\$21,000.00	\$4,000.00	\$28,000.00	\$4,300.00	\$30,100.00	\$3,610.00	\$25,270.00
32	Furnish Materials and Labor to Construct 5'X5' Shallow Junction Manholes, depth of less than 5-feet, as shown on plans and according to specifications, complete and in place	EA	4	\$3,500.00	\$14,000.00	\$4,500.00	\$18,000.00	\$5,500.00	\$22,000.00	\$5,470.00	\$21,880.00
33	Furnish Materials and Labor to Construct 6'X6' Shallow Junction Manholes, depth of less than 5-feet, as shown on plans and according to specifications, complete and in place	EA	1	\$5,000.00	\$5,000.00	\$6,000.00	\$6,000.00	\$7,350.00	\$7,350.00	\$7,460.00	\$7,460.00
34	Furnish Materials and Labor to Construct 4'X4' Standard Junction Manholes, 5-feet to 10-feet, as shown on plans and according to specifications, complete and in place	EA	20	\$3,000.00	\$60,000.00	\$4,500.00	\$90,000.00	\$4,750.00	\$95,000.00	\$4,415.00	\$88,300.00

Item	Description	Unit	Quantity	Environmental Allies	Total	D&W Contractors, Inc.	Total	Precise Services, Inc.	Total	Specialty Construction TX, LLC	Total
35	Furnish Materials and Labor to Construct 5'X'5 Standard Junction Manholes, 5-feet to 10-feet, as shown on plans and according to specifications, complete and in place	EA	15	\$3,500.00	\$52,500.00	\$5,000.00	\$75,000.00	\$6,250.00	\$93,750.00	\$5,470.00	\$82,050.00
36	Furnish Materials and Labor to Construct 5'X5' Standard Junction Manholes, 5-feet to 10-feet, Including 12-inch Split casing on existing 6-inch Sanitary Sewer, Casing Spacers, End Seals, as shown on plans and according to specifications, complete and in place	EA	1	\$7,200.00	\$7,200.00	\$7,000.00	\$7,000.00	\$9,850.00	\$9,850.00	\$5,470.00	\$5,470.00
37	Furnish Materials and Labor to Construct 5'X5' Standard Junction Manholes, 5-feet to 10-feet, Including 16-inch Split casing on existing 8-inch Sanitary Sewer, Casing Spacers, End Seals, as shown on plans and according to specifications, complete and in place	EA	1	\$10,000.00	\$10,000.00	\$7,500.00	\$7,500.00	\$11,000.00	\$11,000.00	\$6,470.00	\$6,470.00
38	Furnish Materials and Labor to Construct 6'X6' Standard Junction Manholes, 5-feet to 10-feet, as shown on plans and according to specifications, complete and in place	EA	3	\$5,000.00	\$15,000.00	\$6,500.00	\$19,500.00	\$8,850.00	\$26,550.00	\$7,460.00	\$22,380.00
39	Furnish Materials and Labor to Construct 6'X6' Standard Junction Manholes, 5-feet to 10-feet, Including 20-inch Split Casing on Existing 12-inch Sanitary Sewer, Casing Spacers, End Seals, as shown on plans and according to specifications, complete and in place	EA	1	\$11,000.00	\$11,000.00	\$8,500.00	\$8,500.00	\$14,000.00	\$14,000.00	\$7,460.00	\$7,460.00
40	Furnish Materials and Labor to Construct 7'X7' Standard Junction Manholes, 5-feet to 10-feet, as shown on plans and according to specifications, complete and in place	EA	1	\$12,000.00	\$12,000.00	\$10,000.00	\$10,000.00	\$12,000.00	\$12,000.00	\$11,750.00	\$11,750.00
41	Furnish Materials and Labor to Construct Type C Inlet, as shown on plans and according to specifications, complete and in place	EA	62	\$4,250.00	\$263,500.00	\$4,000.00	\$248,000.00	\$4,300.00	\$266,600.00	\$4,235.00	\$262,570.00
42	Furnish Materials and Labor to Construct Precast Reinto Constructed Concrete Box, 3'X2', as shown on plans and according to specifications, complete and in place	LF	674	\$475.00	\$320,150.00	\$365.00	\$246,010.00	\$370.00	\$249,380.00	\$513.00	\$345,762.00
43	Furnish Materials and Labor to Construct Precast Reinto Constructed Concrete Box, 3'X4', with Clay and Shale Brick Masonry, as shown on plans and according to specifications, complete and in place	LF	4	\$575.00	\$2,300.00	\$1,000.00	\$4,000.00	\$715.00	\$2,860.00	\$1,000.00	\$4,000.00
44	Furnish Materials and Labor to Construct Storm Water Curb Opening (Neenah R-3262 or equivalent), as shown on plans and according to specifications, complete and in place	EA	10	\$1,200.00	\$12,000.00	\$500.00	\$5,000.00	\$640.00	\$6,400.00	\$519.00	\$5,190.00
	Sub Totals		1 1		\$1,967,714.00		\$1,849,309.00		\$2,104,676.40		\$1,540,196.00
45	D. Waterline Furnish Materials and Labor for Trench Safety System (5' to 10'), as shown on plans and according to specifications, complete and in place	LF	5336	\$1.00	\$5,336.00	\$1.00	\$5,336.00	\$0.10	\$533.60	\$5.00	\$26,680.00
46	Furnish Materials and Labor to Construct New Meter Boxes, as shown on plans and according to specifications, complete and in place	EA	135	\$575.00	\$77,625.00	\$260.00	\$35,100.00	\$185.00	\$24,975.00	\$300.00	\$40,500.00
47	Furnish Materials and Labor to Construct 6" C-900 PVC DR-18, Class 150 Waterline, installed under sidewalk/pavement, including tracer wire, fitting, and valves, as shown on plans and according to specifications, complete and in place	LF	3948	\$55.00	\$217,140.00	\$75.00	\$296,100.00	\$46.50	\$183,582.00	\$65.00	\$256,620.00
48	Furnish Materials and Labor to Construct 6" C-200 Steel Waterline, installed under pavement, including fitting, as shown on plans and according to specifications, complete and in place	LF	31	\$320.00	\$9,920.00	\$320.00	\$9,920.00	\$250.00	\$7,750.00	\$1,000.00	\$31,000.00

Item	Description	Unit	Quantity	Environmental Allies	Total	D&W Contractors, Inc.	Total	Precise Services, Inc.	Total	Specialty Construction TX, LLC	Total
49	Furnish Materials and Labor to Construct 8" C-900 PVC DR-18, Class 150 Waterline, installed under sidewalk/pavement, including tracer wire, fitting, and valves, as shown on plans and according to specifications, complete and in place	LF	1127	\$83.00	\$93,541.00	\$96.00	\$108,192.00	\$61.50	\$69,310.50	\$195.00	\$219,765.00
50	Furnish Materials and Labor to Construct 6" C-900, PVC DR-18, Class 150 Waterine in 12" HDPE Casing, as shown on plans and according to specifications, complete and in place	LF	210	\$110.00	\$23,100.00	\$113.00	\$23,730.00	\$99.50	\$20,895.00	\$400.00	\$84,000.00
51	Furnish Materials and Labor to Construct 8" C-900 PVC DR-18, Class 150 Waterline in 16" HDPE Casing, as shown on plans and according to specifications, complete and in place	LF	51	\$200.00	\$10,200.00	\$127.00	\$6,477.00	\$135.00	\$6,885.00	\$500.00	\$25,500.00
52	Furnish Materials and Labor to Construct 1" Service Line, Short Side, as shown on plans and according to specifications, complete and in place	EA	47	\$1,200.00	\$56,400.00	\$650.00	\$30,550.00	\$800.00	\$37,600.00	\$2,600.00	\$122,200.00
53	Furnish Materials and Labor to Construct 1" Service Line, Long Side, as shown on plans and according to specifications, complete and in place	EA	48	\$2,000.00	\$96,000.00	\$1,380.00	\$66,240.00	\$1,700.00	\$81,600.00	\$4,900.00	\$235,200.00
54	Furnish Materials and Labor to Construct 1" Service Line with Wye Fitting, Short Side, as shown on plans and according to specifications, complete and in place	EA	9	\$1,200.00	\$10,800.00	\$1,080.00	\$9,720.00	\$1,050.00	\$9,450.00	\$3,200.00	\$28,800.00
55	Furnish Materials and Labor to Construct 1" Service Line with Wye Fitting, Long Side, as shown on plans and according to specifications, complete and in place	EA	11	\$2,000.00	\$22,000.00	\$1,640.00	\$18,040.00	\$2,000.00	\$22,000.00	\$5,500.00	\$60,500.00
56	Furnish Materials and Labor to Construct 6" Wet Connection, as shown on plans and according to specifications, complete and in place	EA	1	\$2,000.00	\$2,000.00	\$1,900.00	\$1,900.00	\$1,300.00	\$1,300.00	\$3,200.00	\$3,200.00
57	Furnish Materials and Labor to Construct 8" Wet Connection, as shown on plans and according to specifications, complete and in place	EA	2	\$2,500.00	\$5,000.00	\$2,480.00	\$4,960.00	\$1,325.00	\$2,650.00	\$5,000.00	\$10,000.00
58	Furnish Materials and Labor to Construct 6" Cut, Plug and Abandon, as shown on plans and according to specifications, complete and in place	EA	2	\$550.00	\$1,100.00	\$1,440.00	\$2,880.00	\$480.00	\$960.00	\$250.00	\$500.00
59	Furnish Materials and Labor to Construct 8" Cut, Plug and Abandon, as shown on plans and according to specifications, complete and in place	EA	3	\$1,200.00	\$3,600.00	\$1,900.00	\$5,700.00	\$560.00	\$1,680.00	\$300.00	\$900.00
60	Furnish Materials and Labor to Construct Fire Hydrant Assembly, as shown on plans and according to specifications, complete and in place	EA	11	\$6,500.00	\$71,500.00	\$8,000.00	\$88,000.00	\$7,150.00	\$78,650.00	\$8,700.00	\$95,700.00
61	Furnish Materials and Labor for Fire Hydrant, Salvage and Return to the City, as shown on plans and according to specifications, complete and in place	EA	7	\$650.00	\$4,550.00	\$520.00	\$3,640.00	\$540.00	\$3,780.00	\$250.00	\$1,750.00
62	Furnish Materials and Labor to Construct 6"X8" Tapping Sleeve and Valve, as shown on plans and according to specifications, complete and in place	EA	1	\$6,000.00	\$6,000.00	\$4,500.00	\$4,500.00	\$4,000.00	\$4,000.00	\$8,700.00	\$8,700.00
63	Furnish Materials and Labor to Construct 4"X4" Blue Relfectorized Pavement Markers, as shown on plans and according to specifications, complete and in place	EA	11	\$30.00	\$330.00	\$40.00	\$440.00	\$30.00	\$330.00	\$400.00	\$4,400.00
	Sub Totals				\$716,142.00		\$721,425.00		\$557,931.10		\$1,255,915.00
	E. Traffic Control										
64	Furnish Materials and Labor for Traffic Control, as shown on plans and according to specifications, complete and in place	LS	1	\$30,000.00	\$30,000.00	\$60,000.00	\$60,000.00	\$108,000.00	\$108,000.00	\$90,079.00	\$90,079.00
65	Furnish Materials and Labor to Construct Temporary Pavement (8" Black Base), as shown on plans and according to specifications, complete and in place	TON	293	\$165.00	\$48,345.00	\$180.00	\$52,740.00	\$195.00	\$57,135.00	\$300.00	\$87,900.00

ltem	Description	Unit	Quantity	Environmental Allies	Total	D&W Contractors, Inc.	Total	Precise Services, Inc.	Total	Specialty Construction TX, LLC	Total
66	Furnish Materials and Labor for Low Profile Concrete Barrier, as shown on plans and according to specifications, complete and in place	LF	160	\$70.00	\$11,200.00	\$30.00	\$4,800.00	\$97.50	\$15,600.00	\$70.00	\$11,200.00
67	Furnish Materials and Labor to Remove Low Profile Concrete Barrier, as shown on plans and according to specifications, complete and in place	LF	160	\$14.00	\$2,240.00	\$20.00	\$3,200.00	\$20.00	\$3,200.00	\$40.00	\$6,400.00
Ī	Sub Totals	l			\$91,785.00		\$120,740.00		\$183,935.00		\$195,579.00
	F. Signing & Street Light										
68	Furnish Materials and Labor to Construct Aluminum Signs (Ground Mounted, as shown on plans and according to specifications, complete and in place	EA	16	\$400.00	\$6,400.00	\$450.00	\$7,200.00	\$800.00	\$12,800.00	\$850.00	\$13,600.00
69	Furnhish Materials and Labor to Construct Street Light (at Deer Park Terrace Park), as shown on plans and according to specifications, complete and in place	EA	3	\$5,500.00	\$16,500.00	\$7,500.00	\$22,500.00	\$5,550.00	\$16,650.00	\$7,975.00	\$23,925.00
	Sub Totals	I	1		\$22,900.00		\$29,700.00		\$29,450.00		\$37,525.00
	G. Stormwater Pollution Prevention Plan										
70	Furnhish Materials and Labor for Sodding for Erosion Control and Stabilization, as shown on plans and according to specifications, complete and in place	SY	11293	\$8.00	\$90,344.00	\$7.00	\$79,051.00	\$7.20	\$81,309.60	\$8.00	\$90,344.00
71	TPDES General Permit No. TXR 150000, Notice of Intent (NOI) Application Fees (Contractor's NOI Fee & Deer Park's NOI Fee, Each Fee shall be set price of \$325.00)	EA	2	\$325.00	\$650.00	\$325.00	\$650.00	\$325.00	\$650.00	\$325.00	\$650.00
72	Furnish Materials and Labor for Flexstorm Catch-It Inlet Filters (Filter Bags: 60% of unit cost for furnish and installation, and 40% of unit cost for removal), as shown on plans and according to specifications, complete and in place	EA	68	\$120.00	\$8,160.00	\$550.00	\$37,400.00	\$280.00	\$19,040.00	\$300.00	\$20,400.00
73	Furnish Materials and Labor to Construct Stabilized Construction Access (Type 1-Rock: 60% of unit cost to construct furnish and installation, and 40% of unit cost to construct removal), as shown on plans and according to specifications, complete and in place	SY	312	\$22.00	\$6,864.00	\$35.00	\$10,920.00	\$35.50	\$11,076.00	\$40.00	\$12,480.00
74	Furnish Materials and Labor to Construct Concrete Truck Washout Structure, as shown on plans and according to specifications, complete and in place	LS	1	\$350.00	\$350.00	\$5,000.00	\$5,000.00	\$2,500.00	\$2,500.00	\$750.00	\$750.00
75	SWPPP Inspection and Maintenance (\$6,000 Min. Bid -	МО	14	\$6,000.00	\$84,000.00	\$6,000.00	\$84,000.00	\$6,000.00	\$84,000.00	\$6,000.00	\$84,000.00
	Required) Sub Totals				\$190,368.00		\$217,021.00		\$198,575.60		\$208,624.00
76	H. Extra Work Items Furnish Materials and Labor for Well Pointing (\$25/LF min. bid), as shown on plans and according to specifications, complete and in place	LF	500	\$25.00	\$12,500.00	\$35.00	\$17,500.00	\$30.00	\$15,000.00	\$25.00	\$12,500.00
	Furnish Materials and Labor for Construction Safety Fence, as shown on plans and according to specifications, complete and in place	LF	200	\$3.00	\$600.00	\$6.00	\$1,200.00	\$10.00	\$2,000.00	\$5.00	\$1,000.00
78	Uniformed Police Officer (\$45/HR min. bid)	HR	24	\$45.00	\$1,080.00	\$75.00	\$1,800.00	\$100.00	\$2,400.00	\$75.00	\$1,800.00
79	Furnish Materials and Labor to Construct Checker Plate to Construct Yard Drain, as shown on plans and according to specifications, complete and in place	SF	100	\$72.00	\$7,200.00	\$20.00	\$2,000.00	\$117.50	\$11,750.00	\$102.00	\$10,200.00
80	Furnish Materials and Labor to Construct 4" PVC for Yard Drain, as shown on plans and according to specifications, complete and in place	LF	54	\$85.00	\$4,590.00	\$70.00	\$3,780.00	\$18.00	\$972.00	\$100.00	\$5,400.00
ı	Sub Totals				\$25,970.00		\$26,280.00		\$32,122.00		\$30,900.00
-21	Grand Total	1	1		\$6,249,054,002		\$6,289,972.00		\$6,868,575.80		\$6,964,386.00

Item	Description	Unit	Quantity	Environmental Allies	Total	D&W Contractors, Inc.	Total	Precise Services, Inc.	Total	Specialty Construction TX, LLC	Total
	Alternate 1										
	I. Additive Alternate - CPE Street Lights										
81	Furnish Materials and Labor to Construct 2" Conduit Schedule 80 PVC (Includes Stup Ups), as shown on plans and according to specifications, complete and in place	LF	5165	\$19.00	\$98,135.00	\$20.00	\$103,300.00	\$23.50	\$121,377.50	\$25.50	\$131,707.50
82	Furnish Materials and Labor to Construct Street Light Pullhole, as shown on plans and according to specifications, complete and in place	EA	1	\$1,500.00	\$1,500.00	\$800.00	\$800.00	\$925.00	\$925.00	\$1,850.00	\$1,850.00
	Sub Totals				\$99,635.00		\$104,100.00		\$122,302.50		\$133,557.50
	Grand Total				\$99,635.00		\$104,100.00		\$122,302.50		\$133,557.50

Bid Tai	o - Deer Park Terrace Street Reconstruction Project								
Item	Description	Unit	Quantity	Conrad Construction Co., LTD	Total	ICON GC LLC	Total	Mar-Con Services	Total
				33,7272					
Base B	id								
A. Site	Preparation and Earthwork								
1	Clearing and Grubbing	STA	68	\$4,000.00	\$272,000.00	\$2,343.60	\$159,364.80	\$15,898.10	\$1,081,070.80
2	Furnish Materials and Labor to Remove Old Concrete, Existing Concrete Pavement with Curb as shown on plans and according to specifications, Complete and in place	SY	19877	\$8.00	\$159,016.00	\$8.80	\$174,917.60	\$5.10	\$101,372.70
3	Furnish Materials and Labor to Remove Old Concrete, Driveways as shown on plans and according to specifications, Complete and in place	SY	5228	\$8.00	\$41,824.00	\$9.00	\$47,052.00	\$6.30	\$32,936.40
4	Furnish Materials and Labor to Remove Old Concrete, Sidewalks as shown on plansand according to specifications, Complete and in place	SY	5035	\$7.50	\$37,762.50	\$9.25	\$46,573.75	\$3.50	\$17,622.50
5	Furnish Materials and Labor to Roadway Excavation as shown on plans and according to specifications, Complete and in place	СҮ	5745	\$19.50	\$112,027.50	\$21.00	\$120,645.00	\$26.90	\$154,540.50
6	Furnish Materials and Labor to Remove and Dispose of Existing Concrete or Metal Pipe (all sizes) as shown on plans and according to specifications, Complete and in place	LF	820	\$20.00	\$16,400.00	\$29.50	\$24,190.00	\$23.60	\$19,352.00
7	Furnish Materials and Labor to Adjust Manholes as shown on plans and according to specifications	EA	5	\$1,150.00	\$5,750.00	\$453.00	\$2,265.00	\$707.30	\$3,536.50
8	Furnish Materials and Labor to Remove Old Structures (Manholes and Inlets - All Depths), as shown on plans and according to specifications, complete and in place	EA	6	\$1,100.00	\$6,600.00	\$1,300.00	\$7,800.00	\$718.80	\$4,312.80
9	Furnish Materials and Labor to Remove and Relocate or Dispose of Traffic Signs, Mail Boxes and Roadway Signs, as shown on plans and according to specifications, complete and in place	EA	11	\$500.00	\$5,500.00	\$295.00	\$3,245.00	\$434.80	\$4,782.80
10	Furnish Materials and Labor for Clearance Prune Tree, as shown on plans and according to specifications, complete and in place	EA	52	\$575.00	\$29,900.00	\$330.00	\$17,160.00	\$287.50	\$14,950.00
11	Furnish Materials and Labor to Install Tree Protection Fence (up to 5,000 L.F.), as shown on plans and according to specifications, complete and in place	LF	3940	\$6.00	\$23,640.00	\$7.25	\$28,565.00	\$5.80	\$22,852.00
12	Furnish Materials and Labor to Install Root Pruning Trench, as shown on plans and according to specifications, complete and in place	LF	2270	\$6.00	\$13,620.00	\$11.25	\$25,537.50	\$27.60	\$62,652.00
13	Urban Forestry Monitoring	HR	13	\$75.00	\$975.00	\$245.00	\$3,185.00	\$287.50	\$3,737.50
14	Furnish Materials and Labor to Relocate Existing Water Meter, as shown on plans and according to specifications, complete and in place	EA	23	\$500.00	\$11,500.00	\$550.00	\$12,650.00	\$74.90	\$1,722.70
15	Furnish Materials and Labor to Adjust Existing Water Valve, as shown on plans and according to specifications, complete and in place	EA	4	\$800.00	\$3,200.00	\$232.00	\$928.00	\$89.00	\$356.00
	Sub Totals		1		\$739,715.00		\$674,078.65		\$1,525,797.20
	B. Subgrade & Paving								
16	Furnish Materials and Labor to Construct Speed Bump (Including Asphalt, Tack Coat and Pavement Markings), as shown on plans and according to specifications, complete and in place (REMOVED PER ADDENDUM #1)	EA	0						
17	Furnish Material and Labor to Construct Reinforced Concrete Pavement, 6" depth, as shown on plans and according to specifications, complete and in place	SY	19877	\$68.00	\$1,351,636.00	\$72.00	\$1,431,144.00	\$68.60	\$1,363,562.20

Item	Description	Unit	Quantity	Conrad Construction Co., LTD	Total	ICON GC LLC	Total	Mar-Con Services	Total
18	Furnish Material and Labor to Construct High Early Strength Reinforced Concrete Pavement, 6" depth for Driveways, as shown on plans and according to specifications, complete and in place	SY	5228	\$83.00	\$433,924.00	\$157.00	\$820,796.00	\$87.10	\$455,358.80
19	Furnish Material and Labor to Construct Cement Stablized Sand, 6" depth, as shown on plans and according to specifications, complete and in place	TON	7006	\$48.00	\$336,288.00	\$62.50	\$437,875.00	\$76.80	\$538,060.80
20	Furnish Material and Labor to Construct 6" Concrete Curb, as shown on plans and according to specifications, complete and in place	LF	13004	\$5.00	\$65,020.00	\$4.50	\$58,518.00	\$5.10	\$66,320.40
21	Furnish Materials and Labor to Construct 4" Concrete Sidewalk, as shown on plans and according to specifications, complete and in place	SY	5134	\$74.50	\$382,483.00	\$74.25	\$381,199.50	\$67.00	\$343,978.00
22	Furnish Materials and Labor for Re-Installation of Existing Pavers with 4" Cement Stabilized Sand and 1.5" of Bank Sand, as shown on plans and according to specifications, complete and in place	SY	27	\$175.00	\$4,725.00	\$192.00	\$5,184.00	\$155.30	\$4,193.10
23	Furnish Materials and Labor to Construct ADA Curb Ramp, as shown on plans and according to specifications, complete and in place	EA	28	\$2,200.00	\$61,600.00	\$1,580.00	\$44,240.00	\$1,462.40	\$40,947.20
	Sub Totals				\$2,635,676.00		\$3,178,956.50		\$2,812,420.50
	C. Drainage								
24	Furnish Materials and Labor for Trench Safety System (5' to 10'), as shown on plans and according to specifications, complete and in place	LF	6464	\$2.00	\$12,928.00	\$0.01	\$64.64	\$1.00	\$6,464.00
25	Furnish Materials and Labor to Construct Arch Pipe, 18" X 28.5" (24" equivalent), C506, Class IV, as shown on plans and according to specifications, complete and in place	LF	371	\$260.00	\$96,460.00	\$311.00	\$115,381.00	\$277.80	\$103,063.80
26	Furnish Material and Labor to Construct 24" Storm Sewer, as shown on plans and according to specifications, complete and in place	LF	2592	\$148.00	\$383,616.00	\$156.00	\$404,352.00	\$133.40	\$345,772.80
27	Furnish Material and Labor to Construct Arch Pipe, 22.5" X 36.25 (30" equivalent), C506, Class IV, as shown on plans and according to specifications, complete and in place	LF	843	\$340.00	\$286,620.00	\$368.00	\$310,224.00	\$345.50	\$291,256.50
28	Furnish Materials and Labor to Construct 30" Storm Sewer, as shown on plans and according to specifications, complete and in place	LF	1386	\$188.00	\$260,568.00	\$185.00	\$256,410.00	\$168.00	\$232,848.00
29	Furnish Materials and Labor to Construct Arch Pipe, 26.625" X 43.75" (36" equivalent), C506, Class IV, as shown on plans and according to specifications, complete and in place	LF	275	\$465.00	\$127,875.00	\$602.00	\$165,550.00	\$445.40	\$122,485.00
30	Furnish Materials and Labor to Construct 36" Storm Sewer, as shown on plans and according to specifications, complete and in place	LF	319	\$235.00	\$74,965.00	\$232.00	\$74,008.00	\$192.60	\$61,439.40
31	Furnish Materials and Labor to Construct 4'X4' Shallow Junction Manholes, depth of less than 5-feet, as shown on plans and according to specifications, complete and in place	EA	7	\$4,500.00	\$31,500.00	\$3,015.00	\$21,105.00	\$4,121.90	\$28,853.30
32	Furnish Materials and Labor to Construct 5'X5' Shallow Junction Manholes, depth of less than 5-feet, as shown on plans and according to specifications, complete and in place	EA	4	\$5,500.00	\$22,000.00	\$4,345.00	\$17,380.00	\$5,429.60	\$21,718.40
33	Furnish Materials and Labor to Construct 6'X6' Shallow Junction Manholes, depth of less than 5-feet, as shown on plans and according to specifications, complete and in place	EA	1	\$7,500.00	\$7,500.00	\$5,725.00	\$5,725.00	\$6,654.40	\$6,654.40
34	Furnish Materials and Labor to Construct 4'X4' Standard Junction Manholes, 5-feet to 10-feet, as shown on plans and according to specifications, complete and in place	EA	20	\$4,700.00	\$94,000.00	\$3,350.00	\$67,000.00	\$4,019.60	\$80,392.00

Item	Description	Unit	Quantity	Conrad Construction Co., LTD	Total	ICON GC LLC	Total	Mar-Con Services	Total
35	Furnish Materials and Labor to Construct 5'X'5 Standard Junction Manholes, 5-feet to 10-feet, as shown on plans and according to specifications, complete and in place	EA	15	\$5,750.00	\$86,250.00	\$4,725.00	\$70,875.00	\$5,377.90	\$80,668.50
36	Furnish Materials and Labor to Construct 5'X5' Standard Junction Manholes, 5-feet to 10-feet, Including 12-inch Split casing on existing 6-inch Sanitary Sewer, Casing Spacers, End Seals, as shown on plans and according to specifications, complete and in place	EA	1	\$13,750.00	\$13,750.00	\$8,380.00	\$8,380.00	\$10,752.50	\$10,752.50
37	Furnish Materials and Labor to Construct 5'X5' Standard Junction Manholes, 5-feet to 10-feet, Including 16-inch Split casing on existing 8-inch Sanitary Sewer, Casing Spacers, End Seals, as shown on plans and according to specifications, complete and in place	EA	1	\$14,750.00	\$14,750.00	\$9,985.00	\$9,985.00	\$12,147.40	\$12,147.40
38	Furnish Materials and Labor to Construct 6'X6' Standard Junction Manholes, 5-feet to 10-feet, as shown on plans and according to specifications, complete and in place	EA	3	\$7,500.00	\$22,500.00	\$6,160.00	\$18,480.00	\$6,746.40	\$20,239.20
39	Furnish Materials and Labor to Construct 6'X6' Standard Junction Manholes, 5-feet to 10-feet, Including 20-inch Split Casing on Existing 12-inch Sanitary Sewer, Casing Spacers, End Seals, as shown on plans and according to specifications, complete and in place	EA	1	\$15,500.00	\$15,500.00	\$12,425.00	\$12,425.00	\$14,804.90	\$14,804.90
40	Furnish Materials and Labor to Construct 7'X7' Standard Junction Manholes, 5-feet to 10-feet, as shown on plans and according to specifications, complete and in place	EA	1	\$13,200.00	\$13,200.00	\$10,260.00	\$10,260.00	\$10,450.10	\$10,450.10
41	Furnish Materials and Labor to Construct Type C Inlet, as shown on plans and according to specifications, complete and in place	EA	62	\$4,975.00	\$308,450.00	\$4,650.00	\$288,300.00	\$4,479.90	\$277,753.80
42	Furnish Materials and Labor to Construct Precast Reinto Constructed Concrete Box, 3'X2', as shown on plans and according to specifications, complete and in place	LF	674	\$650.00	\$438,100.00	\$456.00	\$307,344.00	\$401.70	\$270,745.80
43	Furnish Materials and Labor to Construct Precast Reinto Constructed Concrete Box, 3'X4', with Clay and Shale Brick Masonry, as shown on plans and according to specifications, complete and in place	LF	4	\$1,500.00	\$6,000.00	\$563.00	\$2,252.00	\$880.80	\$3,523.20
44	Furnish Materials and Labor to Construct Storm Water Curb Opening (Neenah R-3262 or equivalent), as shown on plans and according to specifications, complete and in place	EA	10	\$575.00	\$5,750.00	\$755.00	\$7,550.00	\$298.30	\$2,983.00
	Sub Totals				\$2,322,282.00		\$2,173,050.64		\$2,005,016.00
	D. Waterline								
45	Furnish Materials and Labor for Trench Safety System (5' to 10'), as shown on plans and according to specifications, complete and in place	LF	5336	\$0.50	\$2,668.00	\$0.01	\$53.36	\$1.00	\$5,336.00
46	Furnish Materials and Labor to Construct New Meter Boxes, as shown on plans and according to specifications, complete and in place	EA	135	\$400.00	\$54,000.00	\$211.00	\$28,485.00	\$85.70	\$11,569.50
47	Furnish Materials and Labor to Construct 6" C-900 PVC DR-18, Class 150 Waterline, installed under sidewalk/pavement, including tracer wire, fitting, and valves, as shown on plans and according to specifications, complete and in place	LF	3948	\$100.00	\$394,800.00	\$70.50	\$278,334.00	\$66.10	\$260,962.80
48	Furnish Materials and Labor to Construct 6" C-200 Steel Waterline, installed under pavement, including fitting, as shown on plans and according to specifications, complete and in place	LF	31	\$625.00	\$19,375.00	\$420.00	\$13,020.00	\$233.50	\$7,238.50

Item	Description	Unit	Quantity	Conrad Construction Co., LTD	Total	ICON GC LLC	Total	Mar-Con Services	Total
49	Furnish Materials and Labor to Construct 8" C-900 PVC DR-18, Class 150 Waterline, installed under sidewalk/pavement, including tracer wire, fitting, and valves, as shown on plans and according to specifications, complete and in place	LF	1127	\$125.00	\$140,875.00	\$86.50	\$97,485.50	\$89.30	\$100,641.10
50	Furnish Materials and Labor to Construct 6" C-900, PVC DR-18, Class 150 Waterine in 12" HDPE Casing, as shown on plans and according to specifications, complete and in place	LF	210	\$310.00	\$65,100.00	\$191.00	\$40,110.00	\$106.70	\$22,407.00
51	Furnish Materials and Labor to Construct 8" C-900 PVC DR-18, Class 150 Waterline in 16" HDPE Casing, as shown on plans and according to specifications, complete and in place	LF	51	\$460.00	\$23,460.00	\$232.00	\$11,832.00	\$177.30	\$9,042.30
52	Furnish Materials and Labor to Construct 1" Service Line, Short Side, as shown on plans and according to specifications, complete and in place	EA	47	\$1,550.00	\$72,850.00	\$980.00	\$46,060.00	\$1,011.80	\$47,554.60
53	Furnish Materials and Labor to Construct 1" Service Line, Long Side, as shown on plans and according to specifications, complete and in place	EA	48	\$2,350.00	\$112,800.00	\$1,250.00	\$60,000.00	\$1,181.90	\$56,731.20
54	Furnish Materials and Labor to Construct 1" Service Line with Wye Fitting, Short Side, as shown on plans and according to specifications, complete and in place	EA	9	\$1,900.00	\$17,100.00	\$1,080.00	\$9,720.00	\$1,258.10	\$11,322.90
55	Furnish Materials and Labor to Construct 1" Service Line with Wye Fitting, Long Side, as shown on plans and according to specifications, complete and in place	EA	11	\$2,650.00	\$29,150.00	\$1,300.00	\$14,300.00	\$1,428.10	\$15,709.10
56	Furnish Materials and Labor to Construct 6" Wet Connection, as shown on plans and according to specifications, complete and in place	EA	1	\$5,500.00	\$5,500.00	\$1,600.00	\$1,600.00	\$1,320.00	\$1,320.00
57	Furnish Materials and Labor to Construct 8" Wet Connection, as shown on plans and according to specifications, complete and in place	EA	2	\$5,900.00	\$11,800.00	\$1,750.00	\$3,500.00	\$1,115.10	\$2,230.20
58	Furnish Materials and Labor to Construct 6" Cut, Plug and Abandon, as shown on plans and according to specifications, complete and in place	EA	2	\$1,925.00	\$3,850.00	\$490.00	\$980.00	\$846.10	\$1,692.20
59	Furnish Materials and Labor to Construct 8" Cut, Plug and Abandon, as shown on plans and according to specifications, complete and in place	EA	3	\$2,100.00	\$6,300.00	\$600.00	\$1,800.00	\$906.20	\$2,718.60
60	Furnish Materials and Labor to Construct Fire Hydrant Assembly, as shown on plans and according to specifications, complete and in place	EA	11	\$8,000.00	\$88,000.00	\$6,815.00	\$74,965.00	\$7,115.40	\$78,269.40
61	Furnish Materials and Labor for Fire Hydrant, Salvage and Return to the City, as shown on plans and according to specifications, complete and in place	EA	7	\$1,150.00	\$8,050.00	\$640.00	\$4,480.00	\$713.90	\$4,997.30
62	Furnish Materials and Labor to Construct 6"X8" Tapping Sleeve and Valve, as shown on plans and according to specifications, complete and in place	EA	1	\$9,700.00	\$9,700.00	\$4,530.00	\$4,530.00	\$4,882.00	\$4,882.00
63	Furnish Materials and Labor to Construct 4"X4" Blue Relfectorized Pavement Markers, as shown on plans and according to specifications, complete and in place	EA	11	\$20.00	\$220.00	\$36.00	\$396.00	\$28.80	\$316.80
	Sub Totals		· '		\$1,065,598.00		\$691,650.86		\$644,941.50
64	E. Traffic Control Furnish Materials and Labor for Traffic Control, as shown on plans and according to specifications, complete and in place	LS	1	\$185,000.00	\$185,000.00	\$227,000.00	\$227,000.00	\$86,521.40	\$86,521.40
65	Furnish Materials and Labor to Construct Temporary Pavement (8" Black Base), as shown on plans and according to specifications, complete and in place	TON	293	\$200.00	\$58,600.00	\$210.00	\$61,530.00	\$167.10	\$48,960.30

Item	Description	Unit	Quantity	Conrad Construction Co., LTD	Total	ICON GC LLC	Total	Mar-Con Services	Total
66	Furnish Materials and Labor for Low Profile Concrete Barrier, as shown on plans and according to specifications, complete and in place	LF	160	\$40.00	\$6,400.00	\$109.00	\$17,440.00	\$24.00	\$3,840.00
67	Furnish Materials and Labor to Remove Low Profile Concrete Barrier, as shown on plans and according to specifications, complete and in place	LF	160	\$35.00	\$5,600.00	\$35.00	\$5,600.00	\$24.00	\$3,840.00
	Sub Totals				\$255,600.00		\$311,570.00		\$143,161.70
	F. Signing & Street Light								
68	Furnish Materials and Labor to Construct Aluminum Signs (Ground Mounted, as shown on plans and according to specifications, complete and in place	EA	16	\$800.00	\$12,800.00	\$540.00	\$8,640.00	\$729.10	\$11,665.60
69	Furnhish Materials and Labor to Construct Street Light (at Deer Park Terrace Park), as shown on plans and according to specifications, complete and in place	EA	3	\$0.01	\$0.03	\$6,620.00	\$19,860.00	\$5,721.30	\$17,163.90
	Sub Totals				\$12,800.03		\$28,500.00		\$28,829.50
	G. Stormwater Pollution Prevention Plan								
70	Furnhish Materials and Labor for Sodding for Erosion Control and Stabilization, as shown on plans and according to specifications, complete and in place	SY	11293	\$7.75	\$87,520.75	\$9.50	\$107,283.50	\$6.90	\$77,921.70
71	TPDES General Permit No. TXR 150000, Notice of Intent (NOI) Application Fees (Contractor's NOI Fee & Deer Park's NOI Fee, Each Fee shall be set price of \$325.00)	EA	2	\$325.00	\$650.00	\$325.00	\$650.00	\$325.00	\$650.00
72	Furnish Materials and Labor for Flexstorm Catch-It Inlet Filters (Filter Bags: 60% of unit cost for furnish and installation, and 40% of unit cost for removal), as shown on plans and according to specifications, complete and in place	EA	68	\$575.00	\$39,100.00	\$330.00	\$22,440.00	\$1,317.77	\$89,608.36
73	Furnish Materials and Labor to Construct Stabilized Construction Access (Type 1-Rock: 60% of unit cost to construct furnish and installation, and 40% of unit cost to construct removal), as shown on plans and according to specifications, complete and in place	SY	312	\$40.00	\$12,480.00	\$1.00	\$312.00	\$40.30	\$12,573.60
74	Furnish Materials and Labor to Construct Concrete Truck Washout Structure, as shown on plans and according to specifications, complete and in place	LS	1	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00	\$2,760.00	\$2,760.00
75	SWPPP Inspection and Maintenance (\$6,000 Min. Bid - Required)	МО	14	\$6,000.00	\$84,000.00	\$6,000.00	\$84,000.00	\$6,000.00	\$84,000.00
	Sub Totals		1 1		\$225,250.75		\$215,685.50		\$267,513.66
	H. Extra Work Items								
76	Furnish Materials and Labor for Well Pointing (\$25/LF min. bid), as shown on plans and according to specifications, complete and in place	LF	500	\$25.00	\$12,500.00	\$25.00	\$12,500.00	\$28.80	\$14,400.00
	Furnish Materials and Labor for Construction Safety Fence, as shown on plans and according to specifications, complete and in place	LF	200	\$7.50	\$1,500.00	\$19.00	\$3,800.00	\$9.40	\$1,880.00
78	Uniformed Police Officer (\$45/HR min. bid)	HR	24	\$45.00	\$1,080.00	\$65.00	\$1,560.00	\$59.20	\$1,420.80
79	Furnish Materials and Labor to Construct Checker Plate to Construct Yard Drain, as shown on plans and according to specifications, complete and in place	SF	100	\$50.00	\$5,000.00	\$118.00	\$11,800.00	\$24.40	\$2,440.00
80	Furnish Materials and Labor to Construct 4" PVC for Yard Drain, as shown on plans and according to specifications, complete and in place Sub Totals	LF	54	\$65.00	\$3,510.00	\$38.00	\$2,052.00	\$32.00	\$1,728.00
	Sub lotals				\$23,590.00		\$31,712.00		\$21,868.80
	Grand Total			11 of 12	\$7,280,511.78		\$7,305,204.15		\$7,449,548.86

Job No. 3940-21 Grand Total 11 of 12 \$7,280,511.78 \$7,305,204.15 \$7,449,548.86 Bid Date: August 22, 2024

Item	Description	Unit	Quantity	Conrad Construction Co., LTD	Total	ICON GC LLC	Total	Mar-Con Services	Total
	Alternate 1								
	I. Additive Alternate - CPE Street Lights								
81	Furnish Materials and Labor to Construct 2" Conduit Schedule 80 PVC (Includes Stup Ups), as shown on plans and according to specifications, complete and in place	LF	5165	\$20.00	\$103,300.00	\$23.00	\$118,795.00	\$24.70	\$127,575.50
82	Furnish Materials and Labor to Construct Street Light Pullhole, as shown on plans and according to specifications, complete and in place	EA	1	\$2,000.00	\$2,000.00	\$999.85	\$999.85	\$977.50	\$977.50
	Sub Totals				\$105,300.00		\$119,794.85		\$128,553.00
	Grand Total				\$105,300.00		\$119,794.85		\$128,553.00